

ORDER FORM

CUSTOMER			
Customer Name	City of North Richland Hills		
Customer Address	4301 City Point Drive North Richland Hills, TX 76180		
Exempt from Sales Tax?	If your entity is exempt from sales tax, please email an exemption certificate to billing@perryweather.com to remove sales tax from your invoices.		
Perry Weather Rep			

PRIMARY CO	PRIMARY CONTACT		
Full Name	APekurney@nrhtx.com		
Title	Parks and Rec Director		
Email	apekurney@nrhtx.com		
Phone	817-427-6605		

EMAIL INVOICES TO	
Accounts Payable Email	
Other Email(s)	

ORDER INFORMATION	
Quote #	20230131-170812976
Itemized Pricing	See attached quote
Initial Term: Start Date	April 1, 2023
Initial Term: End Date	March 31, 2028
Billing Frequency	To be paid in full April 2023
Billing Method	Email
Additional Notes	

This Order Form is governed by the terms of Perry Weather Terms & Conditions ("PW Terms") available at https://perryweather.com/legal-terms. The PW Terms are hereby incorporated into this document by reference. Prices listed for products and services on the Quote and/or ordered hereunder may not include any applicable taxes. Subscriptions purchased under this Order Form may be billed in advance according to the Billing Frequency listed above and will renew according to the PW Terms. By signing below, you represent and warrant that you have the full authority to enter into this Order and the PW Terms on behalf of Customer.

Customer	mer: Perry Weather:		eather:
Ву: _		Ву:	James Skidmore
Name:	Mark Hindman	Name:	James Skidmore
Title:	City Manager	Title:	Chief Operating Officer

ATTEST:
Alicia Richardson, City Secretary/Chief Governance Officer
APPROVED AS TO FORM AND LEGALITY:
Maleshia B. McGinnis, City Attorney
N R H Council Action Y / N
Date Approved
Agenda No
Ord / Res No



City of North Richland Hills - Weather Safety System

City of NRH 4301 City Point Drive North Richland Hills, TX 76180 Reference: 20230131-170812976 Quote created: January 31, 2023 Quote expires: May 1, 2023

Comments from Brooks Middleton

Buy Board Co-Op: #647-21

Quote provides the following: 3 Weather Stations & 6 OWS w/PA

- *Iron Horse 1 WxSt
- *Green Valley Park 1 WxSt + 1 OWS
- *NRH2O 1 WxSt
- *Northfield park 1 OWS
- *Walkers Creek park 1 OWS
- *Cross Timbers Park 1 OWS
- *Richfield Park 1 OWS
- *Richland Tennis Center 1 OWS
- *85 mobile app & software user accouns to be distributed as you see fit.
- *All system features included (Met Support, PA, etc.)

Products & Services

Name	Qty	Unit price	Total
Outdoor Warning System (OWS) *2 Electronic Speakers & 1 Flashing Strobe *Fully wireless & cloud based *Syncs w/ all Perry Weather software *Automated & Manually triggered *Customized active times	6	\$8,500.00	\$51,000.00

Name	Qty	Unit price	Total
Weather Station Standalone (Iron Horse & NrH2O) *Temperature & Humidity *Heat Index *Wind Speed & Direction *Wind Chill *Precipitation *Evapotranspiration *Historical data *HD Sky Camera	2	\$4,499.00	\$8,998.00
Weather Station with Existing OWS (Green Valley Park) *Temperature & Humidity *Heat Index *Wind Speed & Direction *Wind Chill *Precipitation *Evapotranspiration *Historical data *HD Sky Camera	1	\$1,499.00	\$1,499.00
Assisted Installation - Outdoor Warning System (OWS) & Stand Alone Weather Stations Two stand alone weather stations + 6 OWS	8	\$899.00	\$7,192.00
Software subscription Subscription is \$775 per unit. (\$775 x 8 = \$6,200 per year x 5 for paid upfront = \$31,000) *Mobile app & computer dashboard access *85 total user accounts for city & golf staff *Widget for websites *24/7 Meteorologist Support line (call & email) *Text alerts for lightning, heat, wind, rain, etc. *Live radar & forecasts *Virtual training & dedicated Account Manager provided *PA with custom text to speech feature (manual & auto) *Integrate with Iron Horse golf carts to provide alerts	1	\$31,000.00	\$31,000.00
Two-Year Hardware Warranty *Brings total warranty to 5 years *Maintenance/Upkeep & Service covered by PW	8	\$250.00	\$2,000.00
Subtotals One-time subtotal			\$101,689.00

*City of NRH responible for providing lift or bucket truck for install if needed.

Questions? Contact me

Brooks Middleton Manager brooks@perryweather.com 214-364-6166